Tme ot g oy g

- Glazaly ) sal

- | .\,.\.r.al! wmlf‘-aq.lﬁni_g (C,) = (C)  J raa gl C ) — A
x=1 45 x=0 Laled cl clafindly (C) 5 (C) O ysesadl jal dalis cual -2 ] 4
n-1 2wl vy, Lswdaddd@f, neN Woad-i-3 |4

Apalls (u,)  olammiady VX20: £ ()< f(x) O @l —G )

i ey  a

1
S el i "l L b

. ‘=‘ W\ & 'E§
nx |
F(x)= [0 LOd . ”i_ﬁ

Jtt::»l S F(x) asas Je -1 1
€

o 1 1 A i
hm+F(x)é'=EmlJ \vA's E];,l].F(x)Sx(l—l+]nx) O L.':.lg:.ﬂ -2 /{,_,#3 (

o Fix :——-—-——-—-—-—-—-—l+2 Ddt e - -3
(O 1420 A0 ot |
}_l_glmF(x) WWEL VIZ]ZF(I)Z-ZMZ—————E?——i u‘ c.l.ua.u! - {.'1; j..f"
r .
I | i | - 1 L o R g3 ]1 -1-00. UALLESFU‘Q_L{.I] wd | ”!-.-{‘ + O
L2): L £ Jdi
 p>2 Gus Uyl lae p oS -1 ..
‘v’ke{l,z,.*..p——l}:p/Cf ol el - i
e

VneN*:n’ =n[p| o b on—o .::‘,1 |

A={keN*/d" =1[p}} a5 anp=1 = aeN i -2
(F1 Jsudl Jid 0S) (p-Ded dhgis - Ly

A o gapall yualic jhaY d— 3o

a=a[p] s dolenies Jrosiydad neN o8- | L

| ' Vhed:dln ) xhme-g AL
(oaad oael) Audes 8o, LK) 2 =111 11 22l juied —3 ‘
| - u_ =10" -1 [} &3 - A |

- =Y7] o et (1) Dpud Juasidy—x |1
I 6/n<=>7/u gh...;:é\*c ia




